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1. Give the definition of Borel subsets in R".

2. Let zZ Dbe asubset with measure zero inR. Show that A={x*:xeZz} has also

measure zero inR.

3. Assume f:R" —R is measurable. Prove that f~(G) is measurable for every open

setin R.

Let E beameasurable setinR". Asequence {f } In L°(E), 1< p<o,issaidto

converge weakly to a function f inL"(E) if j fg—o j fgforall gel”(E), where
1.1
p + pr _1.

4. Prove thatif f. — fin LPnorm, then {f } converges weaklytof inL"(E).

5. Iff,ge’(E), prove f+gel’E).




